HR#Hr (BH) — HMEEE o)

2009.6.5 (1B : &8k

e E DS

1) log, A+ log, B =log,(AB)

A
2) log, A —log, B = log, (E)

(

(2)

(3) log, A? = 3 log, A
(4) log, b= =

log,.a

.

~N

B 1. Xofizko &k (A2 L),

(1) log, 64 + logs 27
(2) logg 18 + logg 12
1
(3) log, b* + log, 5 log, Vb
1

4) logg 125 — log, 10 — lo —
(4) logg 84 g ( Jﬁ)
(5) (logy 3 + log, 9)(logs 4 + logg 2)

P9S8 2. log;o 3 = 04771 £ LT, LITORMICER X,

(1) 37 IO Bk &
(2) 350 Bk k.

R 3. ROEADRYEDO T L 2G2S\,

1

log, b =
log, a

R PMizZEIC LT, ZREDOME 5.11 290 23\,

e SE 1 RBBERDOT ST

e y=f(-2x) D777t y=f(x) D77 713 yWIBIL THFTH 5.
e y=—fx) D777, y=f(x) D77 713 AL TR TH 5.

e y=fx—p)DTVI7Fy=f(x) DV 7 7% xiim

bDTH 5,

bOTH 5.

y=f(x)+qDT7 77k y=f(x) DI7 7%yl

(+p) ‘FATBH L 7

(+q) VAT L7




